) R Q0 (50) Division, Dividing 2 digit
0
v &

Name: Date: Score:
75+5 = 3+3= 64+ 4 = 382 =
30+2= 15+5= 80+ 4 = 48 +2 =
24+4 = 96+ 8 = 12+3 = §+4=
48+ 4 = 7+7= 18+6= 45+5 =
12+2 = 98 +2 = 382 = 54+6=
25+5 = 648 = 78+ 3 = 81+9=
962 = 35+5= 80+ 8 = 502 =
69+3 = 21+7= 64+ 8 = 48 +4 =
64+ 8 = 90+ 9 = 20+2 = 92 +4 =
16+2 = 564 = 642 = 42+2 =
505 = 9+3= 3+3= 57+3 =
15+3 = 10+2 = 90+ 3 = 28+7 =
382 = 48+ 8 =

www.snowmath.com


https://www.snowmath.com

BOVE W

(50) Division, Dividing 2 digit

Name:

75+5=15

30-2=15

24+4=6

48 +4 =12

12+2=6

25+=5=5

962 =48

69 +3 =23

64+8 =8

16+2=38

50+5=10

15+3=5

38+2=19

98 +2 = 49

64+8=38

35+5=7

21+7=3

90+9=10

56+4=14

10+2=5

48+8=6

64+4=16

80+ 4 =20

12+3=4

18+6=3

38+2=19

78 +3 =26

80+8=10

64+8=28

20+2=10
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Date:

Score:

38+2=19

48 +2 =24

45+5=9

54+6=09

81+9=9

50+2=25

48 +4 =12

92+4=23

42 +2 =121

57+3=19

28+7=4
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